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w% N = 2

= input.nexT.

System.out.println("Exror: negative radius value.");
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System.out.println("Enter a radius value:");
double radiz? input. neXtDouble(), YCAMS =
boolean isPositive @ 0)g 17
Bnile > S[2
—double area = radius * radius x 3.14; 2X2*‘§[¢ T;&t 2;
—System.out.println("Area is " + area)
—System.out. prlntl "Enter a radius value:");
—»radi

A}
System.out.println("Enter a radius value

1 :'N;
2 |double radius input.nextDouble () ;
3 | boolean “ (25 )0) @ C 2( 0
2 funi e "’g.T C Oxsilr’
S double area = radius x radius 3.14

System.out.println(
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7System out.println("Area is " + area); ]
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0 Whet zﬁ We delete the u’m{mfe ot lweq ?

1 | System.out. r'izntln("Ent% a radius value:");

2 | double @E% = input.néktDouble() ;

3 | boolean{sPoadltive) = radius >= 0; 3 X
—w@wm’le { =X 504

5 —9doublearea = radius * radius * 3.14;

| : 2K 2¥
6=9—> System.out.println("Area is " + area); 3 M
75— System. og ; )

t.println{"Enter a radius value:
8 'g'radius|= input.nexfD ;
_@l ﬁ / //’, 'z AN, 7 2/7 ) }

10 |System.out.println("Error: negative radius value.");
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Jor- Loop <> Jde-ko!

e To convertawhile loop to a for loop, leave the initialization
and update parts of the for loop empty.

lwhlla
/* A thHS */

I

IS equiy alent to:

forL_;(é);_) {
/% Actiohs x/
}

To convert a for loop to a while loop, move the initialization
part immediately before the while loop and place the update
part at the end of the while loop body.

rf/* Actions */
}

is equivalent to:

7int 1 H
while {

=9/ Actions #*/

—ﬂl ++;l

}
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 When does the loop exit (i.e., E_LQQ repeating Action 1)?

—pwhile (p &s&(q) { /4 Action 1)/ )}

i [7 % —eX /r‘fﬂu/(b’o/l

97(('& 90"0’(1‘:0'4 = /_(&wg é‘wp{rf'za/l)

e When does the loop exit (i.e., stop repeating Action 2)?

—s|while®) 1 (d ( /+ action 2 «/ )

(F ”%) /(F ll%) = lp 2 /g/
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é’fag éw)(ztzwk 8. E?(fk Mfffo/t: Exescce

Consider the following loop:

int x = input.nextInt();
while (10 <= x (L)% <=-20) |
—»/* body of while loop */
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compiles, but has a logical error. Why?
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